

#### Pay Estimate Created Date: December 2, 2022

Progre	ss Estima 9	te Number	Contract ID Prime Contra	220520-I actor N.B. Wes	H09 st Contracting Com				1, 2022 Net	Change Ord	ct Amount \$2 ler Amount \$5 ct Amount \$2	24.01
Approv	/al Date											By User
Decembe	er 2, 2022			Ge	nerated and Appro	ved (and sl	nould be c	considered Dra	ift) at the Pro	ject Office Le	evel by	REEDV
Decembe	er 2, 2022			Review	ed and Approved (	and should	be consid	dered Draft) at	the Resident	Engineer Le	evel by	dowdy
Decembe	er 5, 2022				Revie	wed and A	pproved a	t the Central C	Office Control	lers Office Le	evel by	ramses
Orig	inal Comp	letion Date	Curre	ent Completio	on Date A	Actual Com	pletion D	Date	% of Curr	ent Contrac	t Amount Cor	nplete
1	November	1, 2022	N	ovember 1, 20	)22	October	14, 2022			93.92	2%	
		Contra	ct Information	nal Dates			Miles	tones				
Date	Description	on Origin	al Completion	Date Curre	nt Completion Da	te No Mil	estones E	Exist for Contra	ict			
Accepta	nce Date											
Awardeo	d Date	June 2	, 2022	June 2	2, 2022							
Letting D	Date	May 20	), 2022	May 2	0, 2022							
Notice to	e to Proceed Date July 5, 2022 July 5, 2022											
Open to	Traffic Da	te										
Work Be	egan Date	July 11	, 2022	July 1	1, 2022							
Contract	Total Pa	For Estimat										
Jonnaci	Totarray	T OF EStimat	e NO. 5	This	Estimate		Previous	\$		To Date		
220520-H	109	Gross Ite Incentive Disincent Liquidate		s <mark>\$2,8</mark> 9 \$0.00 \$0.00 \$0.00	)		\$1,942,4 (\$3,799.1 \$0.00 \$0.00 \$0.00 \$0.00	35)		\$1,954,32 (\$900.65) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		
Contract	Total Pay	able This Es	timate:	\$14	748.31		<mark>\$1,938,6</mark>	00.01		\$1,953,42	9.12	
ems Paid	<mark>d This Est</mark>	<mark>imate Period</mark>										
Project	Number	Line Number	Item Code		Item Description		Unit	Unit Price	Current Ins	talled Otv	Current Instal	led Amount
J9S3449		0050	3105002	GRAVEL (A)	OR CRUSHED ST	ONE (B)	TONS	\$130.000			\$91	
	-	0300	7250315A	15 IN. PIPE (		0.12 (2)	LF	\$149.000			\$1,639	
		5000	2079901	MISC.Misc. F			LS	\$9,300.610		11	\$9,300.	
Project	J9S3449 -		2010001	11100.11100.1			20	\$0,000.010				\$11,849.61
Overall												\$11,849.61
		nts This Estir	nato									ψ11,040.01
o Contra	ct Adjustm	ents Exist on nts This Esti	Contract									
Project Number	Line No.	Item Des	scription	Adjustment Type	Other Item Adjustment Type		Co	omments		Adjustment Quantity	t Line Item Adjustment Unit Price	Adjustmen amount
J9S3449		VATERBORN	E STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Adjustment	Retroreflectivity Adjustment	retro-re 76,0	flectivity to 633 x \$0.1	pays the 20% esting from es 14 x = \$10,728 2/02/2022. Es	timate 0008, .62 x 20% =			\$2,145.00
	0240	VATERBORN	E STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Adjustment		test res pay cat	sults, 54.1 egory as i	s based on retr 1% of the line v indicated on th Adjustment sho	vas at 105% e Pavement			\$290.20
	0250	VATERBORN	W STANDARD	Adjustment	Retroreflectivity Adjustment	This adjustment pays the 20% withheld retro-reflectivity testing from estimate 000 70,501 x \$0.14 x = \$9,870.14 x 20% 1,974.00. reedv1 12/02/2022. Estimate 00			timate 0008,			\$1,974.0
		MARKING F	BEADS						timate 0009			

#### Pay Estimate Created Date: December 2, 2022

Progres	ss Estii 9	mate Number	Contract ID Prime Contrac	220520-H ctorN.B. West		Pay Period Start November 16, 2022 Orig mpany Pay Period End December 1, 2022 Net Curr	Change Orde		24.01
Project Number	Line No.	Item De	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3449		MARKING F	PAINT, TYPE P BEADS			pay category as indicated on the Pavement Marking Payment Adjustment sheet stored in E-Projects			
	0260	WATERBORN	W STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Material			-105	\$5.00	(\$525.00)
	0260	WATERBORN	W STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	105	\$5.00	\$525.00
	0300	15 IN. F	PIPE GROUP B	Overrun			-11	\$149.00	(\$1,639.00)
Total	· · · · ·								\$2,898.70



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information	1					
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work					
J9S3449	FAS S704(5)	Add shoulders	М	STE GENEVIEVE	from Route 61 to Route	e N near Ste Genevieve						
Totals by J	Job Numb	ers										
J9S3449	Posted Item Pay         This Estimate         Previous         To Date           Posted Item Pay         \$11,849.61         \$1,942,480.16         \$1,954,329.77           Gross Item Adjustments         \$2,898.70         (\$3,799.35)         (\$900.65)           Gross Item Pay         \$14,748.31         \$1,938,660.81         \$1,954,329.72											
	Liqui	itive centive dated Damage r Contract Adji		s	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00					

### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3449, Item 6206125A, Project Item Line Number 0260, Material Set 6206125A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Working with Materials to get this material reported	REEDV1	Overridden
Estimate Exception Type: Item Overrun: Contract 220520-H09, Contract Project J9S3449, Project Item Line Number 0300, Contract Line Item Number 0300, Item 7250315A, Minor Item.	Change order in process	REEDV1	Acknowledged



### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Vote: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ite: Posted Qi	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted am	ount at the	time the	Estimate wa	is Genei	rated.		
Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
20520-H09	J9S3449	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$45,200.00	\$45,200.00
		0001	0020	2039902	MISC.DITCH CLEANOUT	122.00	0.00	122.00	EA	122.00	\$405.00	\$49,410.00
		0001	0030	2129900	MISC.SHOULDER GRADING	732.00	0.00	732.00	100F	701.00	\$820.00	\$574,820.00
		0001	0040	2159910	MISC.MODIFIED SHAPING SLOPES, CLASS III	16.00	0.00	16.00	100F	15.60	\$1,400.00	\$21,840.00
		0001	0050	3105002	GRAVEL (A) OR CRUSHED STONE (B)	124.00	0.00	124.00	TONS	7.00	\$130.00	\$910.00
		0001	0060	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	4.00	0.00	4.00	TONS	0.00	\$225.00	\$0.00
		0001	0070	4019905	MISC.OPTIONAL SHOULDER	16,259.20	0.00	16,259.20	SQYD	15,708.90	\$32.00	\$502,684.80
		0001	0080	4139905	MISC.MINERAL AGGREGATE	98,919.00	0.00	98,919.00	SQYD	98,919.00	\$1.05	\$103,864.95
		0001	0090	4139912	MISC.SEAL EMULSION	24,730.00	0.00	24,730.00	GAL	16,891.00	\$3.50	\$59,118.50
		0001	0100	6044011	PIPE COLLAR, TYPE A	3.00	0.00	3.00	EA	0.00	\$900.00	\$0.00
		0001	0110	6089902	MISC.RELOCATE MAILBOX	80.00	0.00	80.00	EA	0.00	\$115.00	\$0.00
		0001	0120	6089905	MISC.TEMPORARY ASPHALT CURB RAMP	1.50	0.00	1.50	SQYD	1.50	\$3,500.00	\$5,250.00
		0001	0130	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	37.00	6.00	43.00	LF	43.00	\$42.00	\$1,806.00
		0001	0140	6097000	ROCK LINING	2.00	0.00	2.00	CUYD	0.00	\$115.00	\$0.00
		0001	0150	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.00
		0001	0160	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	200.00	-169.20	30.80	SQYD	23.60	\$280.00	\$6,608.00
		0001	0170	6161005	CONSTRUCTION SIGNS	1,938.00	0.00	1,938.00	SQFT	555.00	\$5.50	\$3,052.50
		0001	0180	6161025	CHANNELIZER (TRIM LINE)	400.00	0.00	400.00	EA	100.00	\$8.00	\$800.00
		0001	0190	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000.00
		0001	0200	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$299,600.00	\$299,600.00
		0001	0210	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	5.00	0.00	5.00	EA	0.00	\$600.00	\$0.00
		0001	0220	6200012	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE	44.00	0.00	44.00	LF	44.00	\$12.00	\$528.00
		0001	0230	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	3.00	0.00	3.00	EA	3.00	\$300.00	\$900.00
		0001	0240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	76,633.00	0.00	76,633.00	LF	76,633.00	\$0.14	\$10,728.62
		0001	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	70,501.00	0.00	70,501.00	LF	70,501.00	\$0.14	\$9,870.14
		0001	0260	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT. TYPE P BEADS	105.00	0.00	105.00	LF	105.00	\$5.00	\$525.00
		0001	0270	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	650.80	0.00	650.80	STA	550.00	\$18.00	\$9,900.00
		0001	0280	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$8,500.00	\$8,500.00
		0001	0290	7250312A	12 IN. PIPE GROUP B	154.00	-103.00	51.00	LF	51.00	\$146.00	\$7,446.00
		0001	0300	7250315A	15 IN. PIPE GROUP B	117.00	96.00	213.00	LF	224.00	\$149.00	\$33,376.00
		0001	0310	7250318A	18 IN. PIPE GROUP B	44.00	-20.00	24.00	LF	24.00	\$155.00	\$3,720.00
		0001	0320	8051000A	SEEDING - COOL SEASON GRASSES	4.40	5.70	10.10	ACRE	10.10	\$2,950.00	\$29,795.00
		0001	0330	8061005	ROCK DITCH CHECK	600.00	1,881.00	2,481.00	LF	2,480.50	\$13.50	\$33,486.75
		0001	0340	8061016	SEDIMENT REMOVAL	50.00	0.00	50.00	CUYD	0.00	\$22.00	\$0.00
		0001	0350	8061019	SILT FENCE	3,000.00	-606.00	2,394.00	LF	2,394.00	\$2.85	\$6,822.90
		0001	0360	9039902	MISC.RELOCATE EXISTING SIGNS	25.00	0.00	25.00	EA	0.00	\$400.00	\$0.00
		0010	0370	6061060	MGS GUARDRAIL	838.00	0.00	838.00	LF	838.00	\$32.00	\$26,816.00
		0010	0380	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,275.00	0.00	1,275.00	LF	1,250.00	\$37.00	\$46,250.00
		0010	0390	6061074	MGS HEIGHT AND BLOCK TRANSITION	1.00	0.00	1.00	EA	1.00	\$900.00	\$900.00
		0010	0400	6061080	MGS END ANCHOR	2.00	-1.00	1.00	EA	1.00	\$1,500.00	\$1,500.00
		0010	0410	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	9.00	1.00	10.00	EA	10.00	\$3,200.00	\$32,000.00
		0001	5000	2079901	MISC.Misc. Rock Fill	0.00	1.00	1.00	LS	1.00	\$9,300.61	\$9,300.61
1	Project J	9S34 <u>49 - To</u>	otal Value	Posted to D	Date as of Report Generated Date							\$1,954,329.77
20520-H09 Ove	rall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$1,954,329.77



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3449

Line Number	Item Code	De	scription	DWR Date		Quantity Posted	Units			Location		From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance		Comments	
0050	3105002	GRAVEL (A) OR CRUSHE	D STONE (B)	11/17/22	12/2/22	7.00	TONS					2.441		5.463				
0300	7250315A	15 IN. PIPE CULVERT GR	OUP B	11/17/22	12/2/22	11.00	LF					7.269	left					
5000	2079901	MISC. GRADING		11/17/22	12/2/22	1.00	LS					4.78		4.90				
e infor	mation be	low this line are deta	ils for Construction Sig	ns (if appl	icable).													
Project	Line Num		Total Quantity Posted For			Sign	nformatio	on	Station	Log Mile	Location	Number of	of Items	SF Each	Sign	Special Sign	SF Each Special Sign	Total SF to Pos
S3449	0170	July 11, 2022	312		WO8-1 LINE	2 48x48	16.00 N	O CENTER		0.00	left	1.00		16.00				16.
						I 60x24 XX MILES	10.00 R	OAD WORK		0.000	RT	1.00		10.00				10.
					CONST WORK		\$ 8.00 F	RATE OUR		7.268	Rt	1.00		8.00				8
					CONST WORK		6 18.00 F	RATE OUR		7.268	Rt	1.00		18.00				18
					WO8-1 LINE	2 48x48	16.00 N	IO CENTER		7.268	Rt	1.00		16.00				16
						60x24 X MILES	10.00 R	OAD WORK		7.268	Lt	1.00		10.00				10
					CONST		5 18.00 F	RATE OUR		0.000	Lt	1.00		18.00				1
					GO20-2 WORK		8.00 EN	ND ROAD		0.000	Lt	1.00		8.00				
					CONST		1 8.00 F	RATE OUR		0.000	Lt	1.00		8.00				
					WO8-1 LINE	2 48x48	16.00 N	IO CENTER		2.0	Lt & Rt	2.00		16.00				3
					LINE			IO CENTER		3.0	Lt & Rt	2.00		16.00				3
					LINE			IO CENTER		4.0	Lt & Rt	2.00		16.00				3
					LINE			IO CENTER		5.0	Lt & Rt	2.00		16.00				3
					LINE			O CENTER		6.0	Lt & Rt	2.00		16.00				3:
					LINE			IO CENTER		7.0	Lt & Rt	2.00		16.00				3
					WORK			ND ROAD		7.266	Rt	1.00		8.00				
		October 20, 2022	243		FOLLO	W ME		LOT CAR		0.000 - 7.269	Lt & Rt	1.00		4.50				
					NEXT >	X MILES		OAD WORK		0.000	Rt	1.00		10.00				1
					ROAD/		AMP WO	ORK AHEAD		0.000 - 7.269	Lt & Rt	6.00		16.00				9
					FOR PI	LOT CAR		LEASE WAIT		0.000 - 7.269	Lt & Rt	14.00		8.75				12
					GO20-1 NEXT >	I 60x24 XX MILES	10.00 R	OAD WORK		7.269	Lt	1.00		10.00				1
	0170 - Tot	al																



38344         No. 1         Support S	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks											
Interface         <	J9S3449	0030	SUBGRADING AND		OTHR	5		REEDV1	(\$57,400.00)	grading has been completed. Total payment of Misc. Shoulder Grading is 700.91 per 100 Ft. 10% = 70 x \$820.00 = \$57,400.00 and will be paid once final grading has been accepted.											
Other law Adjustment - Total         9000           0000 - tail         MAC         0         Sep 10         Si2.419.85         Estimate 00005, this adjustment is based on 15.708.9 square yeeds of Optional Source 140.2 Molecular law is sign Adv in a sign Adv in the autorial funce of 0.2 Subsection 140.009.9 square yeeds of Optional Source 140.2 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.009.9 square yeeds of Optional Source 140.2 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.009.9 square yeeds of Optional Source 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0000.9 square yeeds of Optional Source 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in the autorial funce of 0.2 Subsection 140.0 Molecular law is sign Adv in						7		REEDV1	\$57,400.00	line item. on Estimate #005 10% of the payment was withheld pending completed grading. The grading was seeded and accepted during this estimate period and this adjustment pays in full the amount previously held.											
4033 - Total         See 13. (ACAD - Total         ACAD - 5         See 13. (ACAD - Total         Sta 2.419.55         Electron 1         Sta 2.419.55         Electron 1         Sta 2.419.55         Electron 2         Sta 2.419.55         Sta					OTHR - Tota	al			\$0.00												
0070 NISC 0070         MISC Number Network         Other ham Applications         ACAD 5         Series 10 2022         Stratume 1005 Stratume 1005 Number 1000 Number 10000 Number 1000 Number 1000 Number 10000 Number 1000 Num				Other Item Ad	justment - To	tal															
AdjustnentAdjustnentAdjustnent $222$ Shoulder lad with a varied (and C 4.8) with a difference of 2.2). Between the base nodes of 0.02 and the current index of 7.50. result (0.155.0)2OTTO - TotalShoulder lad with a varied (0.155.0)2OTTO - TotalShould lad with a varied (0.155.0)2OTTO - TotalShould lad with a varied (0.155.0)2OTTO - TotalOttoaOttoa <th colsp<="" td=""><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td></th>	<td></td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td>						-														
Signal space		0070	MISC.		ACAD	5		REEDV1	\$12,419.85	Shoulder laid with a virgin AC of 4.6% with a difference of 62.5 between the											
Otto - Total         Status         S					ACAD - Tota	al			\$12,419.85												
0130         NEEDed LIGHT ND HEIGHT ND HEIG				Other Item Ad	justment - To	tal			\$12,419.85												
$ \begin{array}{                                     $									\$12,419.85												
Image: Content of Con		0130	CURB (6 IN. HEIGHT AND	Material		1		SYSTEM	\$1,806.00	Estimate Item Adjustment (0002) due to user reedv1 overridding Payment											
Material - Total         Second S			UNDER)			1		SYSTEM	(\$1,806.00)												
Overnn         Overnn         Overnn         1         Jul 18, 2022         SYSTEM         (\$252.00)           0         No V16, 2022 V         SYSTEM         \$252.00         Unit price based on averaged overnun adjustments for installed quantity on all previous payment estimates. Price Adjustments of '.42.00000. 42.00000, 'ts appled (if non-zero).           Overnun - Total         Vernun - Total         90.00         Vernun - Total         90.00           Otso- Total         Vernun - Total         Statum         91.00         Statum         Statum           0160         FURN & PLACE CONC WATT POR FULL DEPTH         Material CONC WATT POR FULL DEPTH         Jul 18, Vernun - Total         SYSTEM         \$6.00.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.           1         Jul 18, VERN & SYSTEM         \$6.00.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.           2         Aug 2, VERN & SYSTEM         \$6.00.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.           2         Aug 2, VERN & SySTEM         \$6.00.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.           2         Aug 16, VERN & SySTEM         \$6.00.00					- Total				\$0.00												
Image: Problem in the strength in the s				Material - Tota	l				\$0.00												
Image: bit imade: bit image: bit image: bit image: bit image: bit				Overrun	Overrun	1		SYSTEM	(\$252.00)												
Overrun - Total         50.00           0130 - Total         50.00           0180 - Total         50.00           0180 - Total         This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.           0180 - Total         0180 - Total           0180 - Total         1         Jul 18, 2022         SYSTEM         \$66.008.00           1         Jul 18, Jul 18, 2022         SYSTEM         \$66.008.00           1         Jul 18, Jul 18, 2022         SYSTEM         \$66.008.00           2         Aug 2, 2022         SYSTEM         \$66.008.00           3         Aug 16, 2022         SYSTEM         \$66.008.00           2         Sug 16, 2022         SYST						8		SYSTEM	\$252.00	previous payment estimates. Price Adjustments of ',42.00000 - 42.00000, 'is											
Otto - Total         S0.00           Otto         FURN & PLACE CONC MATL DEPTH         Material CONC MATL DEPTH         Material PORE         Material 2022         SYSTEM         \$6,608.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.           1         Jul 18, DEPTH         SYSTEM         \$6,608.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.           2         Aug 2, 2022         SYSTEM         \$6,608.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.           3         Aug 16, 2022         SYSTEM         \$6,608.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.           3         Aug 16, 2022         SYSTEM         \$6,608.00         This adjustment (0002) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.           4         Sep 1, 2022         SYSTEM         \$6,608.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.           5         Sep 1, 2022         SYSTEM         \$6,608.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.           6					Overrun - T	otal			\$0.00												
0160         FURN & PLACE CONC MATL FOR TULL DEPTH         Material Neterial         1         Jul 18, 2022         SYSTEM         \$6,08.00         This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate Estimate Exception 2 on the current Payment Estimate Estimate Exception 2 on the current Payment Estimate Estimate Exception 1 on the current Payment E				Overrun - Tota	al				\$0.00												
FORC MATL DEPTH       CONC MATL DEPTH       2022       2022       SYSTEM       (\$6,608.00)         1       Jul 18, 2022       SYSTEM       \$6,608.00       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         2       Aug 2, 2022       SYSTEM       \$6,608.00       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         3       Aug 16, 2022       SYSTEM       \$6,608.00       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         3       Aug 16, 2022       SYSTEM       \$6,608.00       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         4       Sep 1, 2022       SYSTEM       \$6,608.00       This adjustment offsets the original system-generated Material Payment Estimate tem Adjustment (0002) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.         4       Sep 15, 2022       SYSTEM       \$6,608.00       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         5       Sep 15, 2022       SYSTEM       \$6,608.00       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         6       Oc1		0130 -	Total						\$0.00												
1Juli B, 2022SYSTEM 2022(\$6,608.00)2Jug 2, 2022SYSTEM 2022\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.2Aug 2, 2022SYSTEM 2022\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.3Aug 16, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.3Aug 16, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.4Sep 1, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.5Sep 1, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.6Oct 3, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.5Sep 15, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.6Oct 3, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.6 <td></td> <td>0160</td> <td>FURN &amp; PLACE CONC MATL FOR FULL</td> <td>Material</td> <td></td> <td>1</td> <td></td> <td>SYSTEM</td> <td>\$6,608.00</td> <td>Estimate Item Adjustment (0003) due to user reedv1 overridding Payment</td>		0160	FURN & PLACE CONC MATL FOR FULL	Material		1		SYSTEM	\$6,608.00	Estimate Item Adjustment (0003) due to user reedv1 overridding Payment											
20222022SYSTEMSé6.08.00Estimate Exception 1 on the current Payment Estimate.2 $\lambdaug$ 2, $2022$ SYSTEMSé6.08.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.3 $\lambdaug$ 16, $2022$ SYSTEMSé6.08.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.3 $\lambdaug$ 16, $2V22$ SYSTEMSé6.08.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.3 $\lambdaug$ 16, $SYSTEM$ Sé6.08.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.4Sep 1, $2022$ SYSTEMSé6.08.00Second Estimate Exception 1 on the current Payment Estimate.5Sep 1, $2022$ SYSTEMSé6.08.00Second Estimate Exception 1 on the current Payment Estimate.6Sep 1, $2022$ SYSTEMSé6.08.00Second Estimate Exception 1 on the current Payment Estimate.5Sep 1, $2022$ SYSTEMSé6.08.00Second Estimate Exception 1 on the current Payment Estimate.5Sep 1, $2022$ SYSTEMSé6.08.00Second Estimate Exception 1 on the current Payment Estimate.6Sep 1, $2022$ SYSTEMSé6.08.00Second Estimate Exception 1 on the current Payment Estimate.5Sep 1, $2022$ SYSTEMSé6.08.00Second Estimate Exception 1 on the current Payment Estimate.6Sep 1, $2022$ <			DEPTH														1		SYSTEM	(\$6,608.00)	
3Aug 16, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.3Aug 16, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.3Aug 16, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.4Sep 1, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.4Sep 1, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.5Sep 15, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.5Sep 15, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.5Sep 15, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.6Oct 3, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.6Oct 3, 2022SYSTEM\$6,608.00										2		SYSTEM	\$6,608.00	Estimate Item Adjustment (0002) due to user lavacm1 overridding Payment							
20222022SYSTEMEstimate Item Adjustment (0002) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.3Aug 16, 2022SYSTEM(\$6,608.00)4Sep 1, 2022SYSTEM\$6,608.004Sep 1, 2022SYSTEM\$6,608.004Sep 1, 2022SYSTEM(\$6,608.00)5Sep 15, 2022SYSTEM\$6,608.005Sep 15, 2022SYSTEM\$6,608.005Sep 15, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.00						2		SYSTEM	(\$6,608.00)												
2022       2022       2022       2022       2022       2022         4       Sep 1, 2022       SYSTEM       \$6,608.00       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         4       Sep 1, 2022       SYSTEM       (\$6,608.00)       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         4       Sep 1, 2022       SYSTEM       (\$6,608.00)       This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.         5       Sep 15, 2022       SYSTEM       (\$6,608.00)       Estimate Item Adjustment (0002) due to user reedv1 overridding Payment Estimate.         5       Sep 15, 2022       SYSTEM       (\$6,608.00)       This adjustment offsets the original system-generated Material Payment Estimate.         5       Sep 15, 2022       SYSTEM       (\$6,608.00)       This adjustment offsets the original system-generated Material Payment Estimate.         6       Oct 3, 2022       SYSTEM       \$6,608.00       This adjustment (0002) due to user reedv1 overridding Payment Estimate.         6       Oct 3, 2022       SYSTEM       \$6,608.00       This adjustment (0002) due to user reedv1 overridding Payment Estimate.						3		SYSTEM	\$6,608.00	Estimate Item Adjustment (0002) due to user reedv1 overridding Payment											
4Sep 1, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.4Sep 1, 2022SYSTEM(\$6,608.00)5Sep 15, 2022SYSTEM\$6,608.005Sep 15, 2022SYSTEM\$6,608.005Sep 15, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM\$6,608.00						3		SYSTEM	(\$6,608.00)												
4Sep 1, 2022SYSTEM(\$6,608.00)5Sep 15, 2022SYSTEM\$6,608.00This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.5Sep 15, 2022SYSTEM(\$6,608.00)6Oct 3, 2022SYSTEM\$6,608.006Oct 3, 2022SYSTEM(\$6,608.00)6Oct 3, 2022SYSTEM(\$6,608.00)						4	Sep 1,	SYSTEM	\$6,608.00	Estimate Item Adjustment (0002) due to user reedv1 overridding Payment											
Image: Second						4		SYSTEM	(\$6,608.00)												
2022     2022       6     Oct 3, 2022       6     SYSTEM       6     SYSTEM       6     SYSTEM       6     SYSTEM       6     SYSTEM       6     SYSTEM						5		SYSTEM	\$6,608.00	Estimate Item Adjustment (0002) due to user reedv1 overridding Payment											
2022     2022     Estimate Item Adjustment (0002) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.       6     Oct 3, 2022     SYSTEM (\$6,608.00)						5		SYSTEM	(\$6,608.00)												
2022						6		SYSTEM	\$6,608.00	Estimate Item Adjustment (0002) due to user reedv1 overridding Payment											
						6		SYSTEM	(\$6,608.00)												
					- Total				\$0.00												



Dec 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3449	0160	FURN & PLACE CONC MATL FOR FULL DEPTH	Material - Tota					\$0.00	
	0160 -	Total						\$0.00	
	0220	PREF THERMO PAVMT MARKING, 12 IN	Material		7	Oct 17, 2022	SYSTEM	(\$528.00)	
		WARKING, 12 IN WHITE		- Total				(\$528.00)	
			Material - Tota	I				(\$528.00)	
			MaterialCredit		8	Nov 16, 2022	SYSTEM	\$528.00	
				- Total				\$528.00	
			MaterialCredit	- Total				\$528.00	
		Total						\$0.00	
	0230	PREF THERMO PVMT MARK, LT/RT ARROW	Material		7	Oct 17, 2022	SYSTEM	(\$900.00)	
				- Total				(\$900.00)	
			Material - Tota	l				(\$900.00)	
			MaterialCredit		8	Nov 16, 2022	SYSTEM	\$900.00	
				- Total				\$900.00	
			MaterialCredit	erialCredit - Total				\$900.00	
		Total			-	0.1.17	OVOTEN	\$0.00	
	0240	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material	- Total	7	Oct 17, 2022	SYSTEM	(\$10,728.62)	
		MARKING	Material - Tota					(\$10,728.62)	
			MaterialCredit		8	Nov 16,	SYSTEM	(\$10,728.62) \$10,728.62	
			MaterialCredit		0	2022	STOTEM	ψ10,720.02	
			MatorialCrodit	- Total				\$10,728.62	
			MaterialCredit	redit - Total				\$10,728.62	
			Other Item Adjustment	OTHR		Nov 16, 2022	REEDV1	(\$2,145.00)	This adjustment 20% withheld for retro-reflectivity testing, 76,633 x $0.14$ x = $10,728.62$ x 20% = 2,145.00. reedv1 11/16/2022. Estimate 0008
				OTHR - Tota	al			(\$2,145.00)	
				REFL	9	Dec 2, 2022	REEDV1	\$290.26	This adjustment is based on retro-reflectivity test results, 54.1% of the line was at 105% pay category as indicated on the Pavement Marking Payment Adjustment sheet stored in E-Projects
					9	Dec 2, 2022	REEDV1	\$2,145.00	This adjustment pays the 20% withheld for retro-reflectivity testing from estimate 0008, 76,633 x \$0.14 x = \$10,728.62 x 20% = 2,145.00. reedv1 12/02/2022. Estimate 0009
				REFL - Tota	I			\$2,435.26	
			Other Item Ad	justment - To	tal			\$290.26	
	0240 -	Total						\$290.26	
	0250	4 IN. YELLOW WATERBORNE	Material		7	Oct 17, 2022	SYSTEM	(\$9,870.14)	
		PAVEMENT MARKING		- Total				(\$9,870.14)	
			Material - Tota	ıl				(\$9,870.14)	
			MaterialCredit		8	Nov 16, 2022	SYSTEM	\$9,870.14	
				- Total				\$9,870.14	
			MaterialCredit					\$9,870.14	
			Other Item Adjustment	OTHR		Nov 16, 2022	REEDV1	(\$1,974.00)	This adjustment 20%withheld for retro-reflectivity testing, 70,501 x \$0.14 x = \$9,870.14 x 20% = 1,974.00. reedv1 11/16/2022. Estimate 0008
				OTHR - Tota				(\$1,974.00)	
				REFL	9	Dec 2, 2022	REEDV1	\$128.44	This adjustment is based on retro-reflectivity test results, 26.0% of the line was at 105% pay category as indicated on the Pavement Marking Payment Adjustment sheet stored in E-Projects
					9	Dec 2, 2022	REEDV1	\$1,974.00	This adjustment pays the 20% withheld for retro-reflectivity testing from estimate 0008, 70,501 x \$0.14 x = \$9,870.14 x 20% = 1,974.00. reedv1



Dec 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks					
J9S3449	0250	4 IN. YELLOW	Other Item	REFL					12/02/2022. Estimate 0009					
		WATERBORNE PAVEMENT	Adjustment	REFL - Tota	I			\$2,102.44						
		MARKING	Other Item Ad	justment - To	tal			\$128.44						
	0250 -	Total						\$128.44						
	0260	24 IN. YELLOW WATERBORNE	Material		7	Oct 17, 2022	SYSTEM	(\$525.00)						
		PAVEMENT MARKIN			8	Nov 16, 2022	SYSTEM	\$525.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.					
					8	Nov 16, 2022	SYSTEM	(\$525.00)						
					9	Dec 2, 2022	SYSTEM	\$525.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.					
					9	Dec 2, 2022	SYSTEM	(\$525.00)						
				- Total				(\$525.00)						
			Material - Tota	ıl				(\$525.00)						
			MaterialCredit		8	Nov 16, 2022	SYSTEM	\$525.00						
				- Total				\$525.00						
			MaterialCredit	- Total				\$525.00						
	0260 -	60 - Total						\$0.00						
	0300	15 IN. PIPE CULVERT GROUP B	Overrun	Overrun	2	Aug 2, 2022	SYSTEM	\$13,857.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user lavacm1 overridding Payment Estimate Exception 2 on the current Payment Estimate.					
					2	Aug 2, 2022	SYSTEM	(\$13,857.00)						
						3	Aug 16, 2022	SYSTEM	(\$13,857.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).				
					4	Sep 1, 2022	SYSTEM	(\$447.00)						
										8	Nov 16, 2022	SYSTEM	\$14,304.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',149.00000 - 149.00000, 'is applied (if non-zero).
					9	Dec 2, 2022	SYSTEM	(\$1,639.00)						
				Overrun - T	otal			(\$1,639.00)						
			Overrun - Tota	al				(\$1,639.00)						
	0300 -	Total						(\$1,639.00)						
	0320	SEEDING - COOL SEASON GRASSES	Other Item Adjustment	OTHR	8	Nov 16, 2022	REEDV1	(\$5,959.00)	This adjustment 20%withheld till acceptable growth on the project has been accepted., 10.10 x \$2950 = \$29,795.00 x 20% = 5,959.00. reedv1 11/16/2022. Estimate 0008					
				OTHR - Tota				(\$5,959.00)						
			Other Item Ad	justment - To	tal			(\$5,959.00)						
			Overrun	Overrun	7	Oct 17, 2022	SYSTEM	(\$16,815.00)						
					8	Nov 16, 2022	SYSTEM	\$16,815.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2950.00000 - 2950.00000, 'is applied (if non-zero).					
				Overrun - T	otal			\$0.00						
	0320 - T		Overrun - Tota	al				\$0.00						
							a) (==	(\$5,959.00)						
	0330	ROCK DITCH CHECK	Material		3	Aug 16, 2022	SYSTEM	\$8,201.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user reedv1 overridding Payment Estimate Exception 2 on the current Payment Estimate.					
					3	Aug 16, 2022	SYSTEM	(\$8,201.25)						
					4	Sep 1, 2022	SYSTEM	\$33,486.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user reedv1 overridding Payment Estimate Exception 2 on the current Payment Estimate.					



Dec 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
1000440		DOOK DITOU		Туре				(400,400,75)	
J9S3449	0330	ROCK DITCH CHECK	Material		4	Sep 1, 2022	SYSTEM	(\$33,486.75)	
					5	Sep 15, 2022	SYSTEM	(\$33,486.75)	
				- Total				(\$33,486.75)	
			Material - Tota	ıl				(\$33,486.75)	
			MaterialCredit		6	Oct 3, 2022	SYSTEM	\$33,486.75	
				- Total				\$33,486.75	
			MaterialCredit	- Total				\$33,486.75	
			Other Item Adjustment	OTHR	8	Nov 16, 2022	REEDV1	(\$6,698.70)	This adjustment is 20% withheld till the removal of all the rock ditch checks has been completed once acceptable seed growth has been accepted. 2481 x \$13.50 = 33,493.50 x 20% = \$6,698.70. reedv1, estimate 0008, 11/16/2022
				OTHR - Tota	al	1		(\$6,698.70)	
			Other Item Adj	justment - To	tal			(\$6,698.70)	
			Overrun	Overrun	3	Aug 16, 2022	SYSTEM	(\$101.25)	
					4	Sep 1, 2022	SYSTEM	(\$25,285.50)	
					8	Nov 16, 2022	SYSTEM	\$25,386.75	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',13.50000 - 13.50000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
		Overrun -		1 1				\$0.00	
	0330 -	Total						(\$6,698.70)	
	0350	SILT FENCE	Material		3	Aug 16, 2022	SYSTEM	\$1,208.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user reedv1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Aug 16, 2022	SYSTEM	(\$1,208.40)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0350 -	Total						\$0.00	
	0380	MGS GUARDRAIL, 8	Construction Stockpile		4	Sep 1, 2022	SYSTEM	(\$11,707.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT. POSTS, 6 FT 3 IN			6	Oct 3, 2022	SYSTEM	(\$16,167.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$27,875.00)	
			Construction \$	Stockpile - To	otal			(\$27,875.00)	
			Construction Stockpile		3	Aug 16, 2022	SYSTEM	\$28,432.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$28,432.50	
			Construction \$	Stockpile STI	vil - Total			\$28,432.50	
	0380 -	Total						\$557.50	
	0410	TYPE A CRASHWORTHY	Construction Stockpile		4	Sep 1, 2022	SYSTEM	(\$5,625.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)			5	Sep 15, 2022	SYSTEM	(\$3,750.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					6	Oct 3, 2022	SYSTEM	(\$7,500.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$16,875.00)	
			Construction	Stockpile - To	otal			(\$16,875.00)	
			Construction Stockpile		3	Aug 16, 2022	SYSTEM	\$16,875.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$16,875.00	
			Construction S	Stockpile STI	vil - Total			\$16,875.00	
			Overrun	Overrun	6	Oct 3, 2022	SYSTEM	(\$3,200.00)	
					8	Nov 16,	SYSTEM	\$3,200.00	Unit price based on averaged overrun adjustments for installed quantity on all
									· · · · · · · · · · · · · · · · · · ·



Dec 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3449	0410	TYPE A CRASHWORTHY END TERMINAL	Overrun	Overrun		2022			previous payment estimates. Price Adjustments of ',3200.00000 - 3200.00000, 'is applied (if non-zero).
		(MASH)		Overrun - To	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0410 -	Total						\$0.00	
J9S3449 -	Total							(\$900.65)	
Overall -	Overall - Total							(\$900.65)	